m

7110060
8210500

oY

Item-nr. |Description Number
0424015 |end coupling for 48mm 2
0690081 |protectiontube for Suevia 500 1
7110060 |hexagon-head bolt M10x60 galv. 2
8210500 |self locking nylon nut M10 galv. 2

protection brace for model 500 to wall

splnder

IRY HOUSING CONCEPTS

Number: 0690085-0
Unit: mm
Date: 25-3-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




]

0690082

0409002

7110070
8210500

7110090
8210500

2280104

1106200 %

0690083

0456086
8210500

Order-nr.

Description

Number

0409002

strap 76mm for strap clamp

2

0456086

threaded strap M10/60x90mm galv.

0690081

protectiontube for Suevia 500

0690082

tube 60mm x 42cm for Suevia 500

0690083

tube 60mm x 58cm for Suevia 500

1106200

stopper 60mm

2280104

plate for T-clamp 48x60mm with hole 11Tmm

7110070

hexagon-head bolt M10x70 galv.

7110090

hexagon-head bolt M10x90 galv.

[NCT I NN [ NG N (R [ N )

8210500

self locking nylon nut M10 galv.

N
o

support + protection brace for model 500

spinder .. .

Number: 0690080-0

DAIRY HOUSING CONCEPTS Date: 15-9-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

support + protection brace for model 500

spinder

DAIRY HOUSING CONCEPTS

Number: 0690080-A
Unit: mm
Date: 4-8-2015

Tekening blijft ons ei

Aan de gegevens op %eze tekening kunnen geen rechten worden ontleend.

endom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.




m

G

0456086 1106200

8210500

0412131

0690091

N5

7110070

8210500

Order-nr.

Description

Number

0412131

plate for T-clamp 48x60mm

2

0424015

end coupling for 48mm

0456086

threaded strap M10/60x90mm galv.

0690091

wallsupport for Suevia 500

0690092

protection tube 90 degrees

1106200

stopper 60mm

7110070

hexagon-head bolt M10x70 galv.

RIN|(R|R|[ D]~

8210500

self locking nylon nut M10 galv.

wall support+protection brace model 500

spinder .

RY HOUSING CONCEPTS Date:

Number:

0690095-O0

mm

4-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




m

wall support+protection brace model 500

spinder

DAIRY HOUSING CONCEPTS

Number: 0690095-A
Unit: mm
Date: 4-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110060

8210500 E

0412021

7310070 Q?
8210400

0616262

0424015

Order-nr. Description

Number

0412021 |plate for T-clamp 48x48mm

2

0424015 |end coupling for 48mm

0616261 |protection tube (U-part) Suevia 520

0616262 |protection tube (lower part) Suevia 520

7110060 |hexagon-head bolt M10x60 galv.

7310070 |coach bolt m10x70 galv.

8210500 |self locking nylon nut M10 galv.

8210400 |self locking capped nut M10 galv.

RlW R W R Pl w

protection brace for dual-trough 520

spinder

DAIRY HOUSING CONCEPTS

Number: 0616260-0O
Unit: mm
Date: 4-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




a
a
a a
<4
a
Pl
a
a
= a,
a
a
a

aAD
&.o/ |
| o
O
(DO
(]
—

holes @13 mm drilling

(chapo) during assembly

950

(560)

protection brace for dual-trough 520

l Number: 0616260-A
S p I I l el Unit: mm
DAIRY HOUSING CONCEPTS Date: 26-3-2020
Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt
unnen geen rechten worden ontleend.

Aan de gegevens op deze tekening




M

0690005

! 0690029

0690031

-

<
@

@
P
&

7731 0030

8210500

Item-nr.

Description

Number

0418025

mounting clip 76mm

0690005

outlet 1"incl. cap

0690029

hose connection 1,5"

0690031

hose connection 1,5", pipe excl.

0690060

PVC stopper for 2" B.S.P.

7310030

coach bolt M10x30 galv.

8210500

self locking nylon nut M10 galv.

N N N N = =Y

assembly parts drinking bowl,round 40cm

spinder

DAIRY HOUSING CONCEPTS

Number: 0610046-0
Unit: mm
Date: 19-10-2015

Aan de gegevens op deze tekening

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
unnen geen rechten worden ontleend.




M

0690102

0409002

7110060
8212500

1106600

0466091

8210500
Item-nr. |Description Number
0409002 |strap 76mm for strap clamp 2
0466091 |threaded strap square M10/60x90 galv. 8
0690081 |protectiontube for Suevia 500 1
0690101 |mounting tube Suevia 500 1
0690102 |square tube 60x60 x 42cm voor Suevia 500 1
1106600 |stopper 60mm square 4
7110060 |hexagon-head bolt M10x60 galv. 2
8210500 |self locking nylon nut M10 galv. 16
8212500 |self locking nylon nut M12 galv. 2

support + protection brace for model 500

Number: 0690100-0
splnder Unit -
DAIRY HOUSING CONCEPTS Date: 23-9-2020

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




support + protection brace for model 500

Number: 0690100-A

spinder .. .

DAIRY HOUSING CONCEPTS Date: 22-9-2020

Tekening blijft ons eigendom en maé niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




